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• kobs = Ae-ΔE/RT 

• kf >> kr; Keq = kf/kr = [product]/[reactant] 

• ln kobs = -ΔE/R(1/T) + ln A 
•   y   =        mx      +   b 

-ΔHo
rxn 

• ΔGo = ΔHo -TΔSo; 
• TΔSo << ΔHo 

• ΔGo ~ ΔHo 

Activation Energy - Ea 

Activation Energy 
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•  rate = k2[B] 
•  Keq = [B]/[A] = k1/k-1 

•  rate = [A]k2k1/k-1 = k2Keq[A]  

•  kobs = k2Keq 
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A Preliminary Equilibrium, Exothermic Reaction 
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An Irreversible Reaction with an Intermediate 
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Competitive Irreversible Reactions - I 
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The Curtin - Hammett Principle 
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The Role of a Catalyst 
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Ethane 

2 x (-98) = -196  kcal/mol Ethylene π-bond 

+62 kcal/mol 

Hydrogen 

+104 kcal/mol 

ΔHo = -30 kcal/mol 
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The End 
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